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1. Derive the Green’s function (response to a unit impulse at time t’) for a critically damped linear
harmonic oscillator. What is the Green’s function for w, = 1 s'1, m = 2 kg? (Don’t worry about writing
down the units - all numbers have appropriate MKS units.)
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2. Use your Green'’s function to find the response of the oscillator in 1 to the force
F(t)=4 N O0O<t<4s
F@®)=0 all other times
Find the solution for t between 0 and 4 s. Your answer should contain only numbers and t. £ (’) = \
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. 3. For this specific force (i.e. a constant), there is another way to find the posmon for O<t<4 s. Describe
- in one or two sentences the other approach.
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